@ Bitspower® instruction manual

Bitspower Sedna Ol11DXL for LIAN LI Ol1
DYNAMIC XI. ROG (Hercules Pump, Front ver.)

Accessories

€ M3x8 Screw 2PCS @) M4x25 Screw 3PCS €© Base 1PCS

v v

BPTA-TOO11DXLA-PHCL

% Digital RGB PIN on € motherboard or # other equipment.

(1] #_.BPTA-DRGBMFC

é
@ @
o I 4
® @ M
@ ® _—
® o O motherboard
o @ & (Not included)
@ @ -
@ ®
@ @
@
@
@ o ¢
Both the front and the back side of the reservoir have a fill or
drain hole, choose the one that suits you.




@ Bitspower®

Power Supply and Pump
"

Rated voltage : 12V DC
Power consumption : 15W
Maximum flow : 11+15% L/min
Noise : < 40dBA
PWM : Yes

MTBF : 15000 hours

Warranty : 2 years

Dimension: 62 x 62 x 46.7mm

Maximum lift of the water pump: 5.5£0.5m

T N\ /ST~
_oPU—R (N
If need be o a @ -
5
S
All tube connect hole sare G 1/4 A
threaded holes. N N
.3 (&) & O
N\ G1/4 Screw plug %
8 \ ~— e
\\ i % The position of the Hole position offset block can

be adjusted to correspond to the CPU installation
position of different motherboards.

Y/ g

" (0]
E (0]

% When installing the GPU, it is necessary to
remove the conduit module, and then install the
corresponding fittings.

0-Ring(54X50%2)

Hole offset block(CPU)

M4 X 16mm Screw

Conduit 5 Ring(60x 56X 2mm)
G1/4 thread plug ) - . - —
0-Ring(60X56X2) (2] % When installing the radiator, it is necessary to
. remove the conduit module, and then install the
Water conduit modules . —_
corresponding fittings.




@ Bitspower’

| Water J I
Choose your desired dye color and mix it with pure 'g. "N S %
distilled water. Pour the water mix into the reservoir ‘. } ||||I|=I|=I|=
via the water filling hole. Once the reservoir is 90% oo 0 I|=IHIHIH|
full, turn on the power supply for the pump to run : Wt : '& “lﬂdmhi
and let the air exit the loop. Turn off the power AR =|“|=I|=IH|
supply when the reservoir is near empty. Repeat until O |=I|=|=||=I|=
all the air has exited the loop. Gt !|l!|l!=!!l!|

(In order to power the pump only, connect the power

switch connector to the 24 pin cable of the power
supply. This will allow the power supply to bypass
the motherboard and make the pump work alone.)

d
4
A
5
. A
Ning )

Not included

Product Warranty Rules

The warranty will be void if any of the situations below happen.

Water Block
- The CPU block and the screws in it has any trace of disassemble.
- The top plate inlet and outlet ports, due to improper use of external forces, are cracked.

Radiator
- The fin of the radiator are broken or deformed due to improper use of external forces.
- The inlet and outlet of the radiator are cracked due to improper use of external forces.

Fitting

- There are signs of damage caused by instrument clamping on the fittings.
PUMP

- Pump damage from pump operation without any liquid.

- Pump damage caused by water leak on the pump's PCB.
- Water tank has been separated from the pump.

Fan
- Fan damaged by water leak.

G1/4 Screw plug
- If the plug, screw specification or thread are not up to standard, the screw can not be
locked. If you tighten the screw violently, the device will be damaged.



Assembly steps ®%

Oommdéé = 5

Oommié e di

LIAN LI O11 DYNAMIC XL

(Not included)

M3x8 Screw

Comnthelh

Front plate

Side plate




TR eqguuun

M4x25 Screw

Recommended installation method

Accessories(additional purchases)

() BPN-NLS360-F2PB 2 PCS (d BP-NCCLT16AC-L500
(® BPTA-CPUMS-SKI 1PC

(@ BPTA-FX1812NT-3 2 SETS
@ BPTA-DOTFH1622 12 PCS

I

N D

! L
T

(] o9 05
l

] o® oa

—
@




@ Bitspower’

A Notice

e Before filling in the water, please make sure all the components are
installed correctly. To prevent any leakage which may damage the PC
components, please perform a 24-hour leaking test with only the pump
connected to the power supply.

e Bitspower reserves the right to change the product design and
interpretations. These are subject to change without notice. Product
colors and accessories are based on the actual product.

e When using leak tester on water cooling loop, in order to avoid product
damage due to excessive pressure, the input pressure should not exceed
0.5kg/cm? (Bar). If the product is damaged due to excessive pressure, it
will be the fault of the customer. DO NOT use the leak teser when there is
water in the loop or the pump is running.

e Bitspower recommends that customers use Bitspower Pellucid Coolant
for their coolant fluid. It is also recommended to use Bitspower Dye to
create any desired color. If the customer chooses different liquid coolants,
the resulting impurities may cause peeling of the coating on some of the
hardware, water channel blockage by built-up residue, improper operation
of the water pump, water tank tube breakage, and o-ring deformation
leading to leakage. Any issues related to the use of inappropriate liquid
coolants will be the responsibility of the customer.



@ Bitspower’ fEFREAE

Bitspower Sedna Ol11DXL for LIAN LI Ol1
DYNAMIC XI. ROG (Hercules Pump, Front ver.)

Foft
€ v3xs 14 2PCS (2 JYIIT-T5 3PCS © = 1PCS
¥ N

BPTA-TOO11DXLA-PHCL

* EEOTIRAO EA2HEH DRGB I
(1) @ _-BPTA-DRGBMFC
~‘|
I 4
®
0 st
¢ 6 iR .
P DRGB #5158 ( 6% )
@ ®
¢ @ @ 5
®
® @ ¢
o
® ¢ @ &
® @ 9
@ J/ KN ERIBES A TERR EKMBEKBIFLAL » BRIBETE—ER
BiA] o




MRBERE

FREREFNA G1/4 BIFFL

e G1/4 3558

0 [ (54X50%2)

FLIRIZLE (CPU)
M4 X 16mm 1244

SPECIFICATION

Rated voltage : 12V DC
Power consumption : 15W
Maximum flow : 11+15% L/min
Noise : < 40dBA
PWM : Yes
MTBF : 15000 hours
Warranty : 2 years
Dimension: 62 x 62 x 46.7mm

Maximum lift of the water pump: 5.5£0.5

m

) (&

+-
g
pa
ja Ay
Gek
=

CPU R E -

X A @IBRB A RIBIRAUE - UHEFREHRE

| @

E :@

X 23 GPU S5 » REHIKRER
FEARFEAVIEERRNRI (A ©

RAIFFR - ARR

G1l/4 Y2TFiEEE
O B (60X56X2)
KBS EIEIEA

(8]

X REOLHE - BEIBEIERAIG
FEERRENAIER o

» AR L EAEIERY



BESIFNK S RERER LUAFEKAEE B EKA
FEAZEKFENDWAZEFA"24PIN BRRERA” BB E IR
KA TEREFEKESEL BRKEEERNE
IKFEL D AR R

(24PIN Bk4ZFARA B ik B EL T IRBIEL ATX TIRES &
EREIEREHESE-)

Em SRS
BIRIARFRY » FMEMNEMNB U TR » FERELER o

K% 58

- REBRRIRAL 0 BIRERY > BEERKRF o
-TEEFRVIEH O > AAIIIERFAEERFHH o
2k

-RAINNERREERSHIKER SR °

- EHKFLEBINERAEERHH o

1E5A
- AR SR IR ERYF o
IK3R

- EKIBBEBUKRIES o
- [EE2F pcb EEKER o
- IKFEEEE SR A A iR fR > — R IRERBIA(RE o

JERS
- KRR o
YEER

- YEER ~ BRI EIACRERR - SR T AL 0 EIRECEERK




@ Bitspower’

PEE 1

Oommdéé = 5

Oommié e di

LIAN LI O11 DYNAMIC XL

(FEFE)

S5k 4

S5 3

A ER

A ER

M3x8 1844

Comnthelh

[10]



|meqyuumanw

BEEurn ‘ M4x25 1244
E4FRA (TS5 )

() BPN-NLS360-F2PB  21@ (@ BP-NCCLT16AC-L500
(® BPTA-CPUMS-SKI 148
(@ BPTA-FX1812-3 2 48

(® BPTA-DOTFH1622 12 1&

T [ T ——+—10
—




‘§§gﬂm$poumw®

N
/MNEFE
o HI/KA] > AL RFIEEHEZEFIERANNME L > TR > BRIK

ROOERT » 1T 24 /) BORIIGHE » RRERAEREEEEIN
BRSBTS A H01RIE o

o NATREHNEMAVRTENUAKRBRENES » WEESOARHITEM
EmEABEE B AZE o

o EEAARERAEVKEE » SBRERBNBRERERRR > BAN
EEAREBB 0.5kg/cm’ (Bar) » MR /BREMRERBIE » HHEF
BIT&IE » BREREKBRAKBKRFABBIER T ETRIZEEEASE -

e Bitspower #2:%H & & £ F Bitspower FEBH/S 80K © b4 - AT LN
Bitspower Z¥} EIFERR S ANR P LUREEEBEX « IR HEHEIERFDN
K2R > BIREE 5 REKERECH R RVEE RTE ~ TRIFEEKE ~ KREE -
KFEEWH ~ IR O BEZ M EBIRKE « EAEFERAREKLSRER
MHFENEEREEEEBTAE -



@ Bitspower® BERAT

Bitspower Sedna O11DXL for LIAN LI Ol1
DYNAMIC XL ROG (Hercules Pump, Front ver.)

ot
€) V3 iz 2PCS @) MasiEL 3PCS © =& 1PCS
¥ \,9

BPTA-TOO11DXLA-PHCL

* iEEOT RO Hithik &6 DRGB fEfE
(1) @ _\BPTA-DRGBMFC

DRGB =25 ( RN E4E )

BpA] o

V IKIENR ERTGERA TR SR FHEKAIFLL - BRI RE—ER




@ Bitspower®

5K

(}‘ ~ v
0
SPECIFICATION

Rated voltage : 12V DC
Power consumption : 15W
Maximum flow : 11+15% L/min
Noise : < 40dBA
PWM : Yes

MTBF : 15000 hours

Warranty : 2 years

Dimension: 62 x 62 x 46.7mm

Maximum lift of the water pump: 5.5£0.5m

- -OPU D m
MRERE 5 % @ %
J
&
FIEIETLILN G1/4 857, a “@
N[
e 5%
% GL/4 sk o il
9 \\ N— ./ N
\\ , x ABLBEILRBRILE » LR ARRENIRE
> CPU REAIE o

y O
O B (54%50%2)
1Y/ G 0.
AR (CPU) ; o | .
Do
M4 X 16mm 122z [ . 7 , o ’
4 [1 -@
q 0
-' f ©
LR GPU JTKEY » FEEKRSERANR > AR

FEAER AYZ LRI AT (62 B

9
N

G1/4 HRTFHEK
X BRTHIN » BFEIESIBEATIR > AELEMENH
O B (60X56X2) [14] 1L BT o

KESSiEEA



SR B RIBREE » A4S KIS > B B EL RN //1f/
SEASKFEAD HAEEFIE"24PIN BHETT X" B IR . ?‘MWM
LE oK B R B 2 S S R K FE B BAROK B AR TRINE R H i
AFENS F AR E o RO B
(24PIN Bk FF £ iR BEZR T RITE ATX IR {6 AR I p“.}np}b
BIRE IR e) SR 'mmm
RN o T

= aRERE
FIRERESRY » IXERFmNB U TR » FEREEER

KIS 3k
-k BEIRL > BIRERT > BEFRKR
- TRERRYH O > RAINIERFALEFTR

R HF

- ERS R L SIS BB -
AR A RN SET R

&k
- BT F S AR AR
KE

- TKIBEESBUKIRIFER o
- [EEB pcb Bk IRER o
- IKFEERES AR A AR » —EIFEERIARE o

)

- BEIKIGEER

HEEE

- YRR ~ BARRS B AN ER - GEAT AL 0 ENOERBERK



@ Bitspower’

P 1

Oommdéé = 5

Oommié e di

LIAN LI O11 DYNAMIC XL

(FEFE)

P 4

S 3

A ER

e

pad

M3x8 42

Comnthelh

[16]



|meqyuumanw

BiysESFR M4x25 1244
F iR (BB )

() BPN-NLS360-F2PB 24 (3 BP-NCCLT16AC-L500

(® BPTA-CPUMS-SKI

(® BPTA-FX1812-3
(® BPTA-DOTFH1622




@ Bitspower®

N
/MNEFE
o HI/KH]  IBEMINFIEEHELREFEMNNUE L > EAFEN > EFFK
RWIBERT » #1724 /NERIREAKNNR » MERITREKIEZEEFEN, > B
RAEERKMEHBIEEFAIIRLE o

o KNATREXN T mMAVIRIT BLUAKRERRNG » MBEBHBAFZITEA
BB SEC USRI N o

o LFEANSKFRME/KER » NBREHTFENDEAER=RHTUE » BAK
ESBEARERT 0.5kg/cm’ (Bar) » MNAE 7T K& Sifif - BHEF
Bi7&IE » mREFEKEEKBKEFERNER FHITREBENL -

e Bitspower 21 H 28 & F Bitspower FEBH/ZE1R o b4 > AT LR
Bitspower Z¥# EIIBBR R ERA LUK EEIEE XK - R HEEXZERREN
KRR > BIRER 5 REKERE P RVRERIE ~ TRYRHEEKIE ~ KRER -
KB ~ HIF O BEZHMSERAKE - EARFEAFHKLIEKEE
XM EEEBITARE



